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I Rest of list of "o mwn — nRIN *MERA PVITR (the first five items in the nywn were analyzed in the previous Myw)
a 11w (hair cut from the 91 after his successful completion of the mm) — v. 1; w11p (not wNp) — cannot be redeemed
b 7N qva - could be contra w™, who permits nRin from 70N 9Vs; or consensus and after MmN N9y (if not redeemed)
c  2YNa7wa-—as per M a1 Rin who sees repetition in vv. 2-3 as teaching nRin MR (as well as 51v721 19IR)
i note: contra (Rny '2) v who infers from vv. 3::4 that just as there is no nR1n MR from N97Y, similarly with n”aa
d nrvaonwaw pYin - source
i Attempt #1: n"1 - symmetry in division between wTpn and wTpnY yin —
1 Just as: we may not offer n17p outside (v. 5), so we may not offer P9 n inside
(a) Limitation: there is no nRon avn for N7Ya YoNWIY PYHIN as per exclusive phrasing in v. 5 — non..2pnb
(b) Rejection: parallel challenged by this limitation
2 Rather: »ar — vv. 6-8 (3 instances of y1m& vNW) responding to v. 9, which allows pYn nonw “at a distance”
(a) -> butnot n7ya — even Maw NN ,mn YY1 (as per extra verses)
(b) and: prohibition of n%75& extends to NIYa YNV PHIN by implication of NYR1inv. 9
(c) and: prohibition extends to nxin from exclusive ymR in v. 5 which allows 1970 to be used
3 note: (RN 72) v™" validates PwITp done with 7N 7V ,N"11 and 17Ya WNWIY PN
(a) challenge: we understand n”11 and 7N 704 (as above) — but v confirms NRIN NOR of MY ONVIV PHIN
(b) answer: in this case, it was found to be a n90; v"™ maintains that n87 NPYRY nVNY isn’t NYNY (no violation)
I Conclusion of "v mwn — if he sold any of these nXin R and gave her pv1Tp with the proceeds — nvnpn
a  Source: by implication from v. 10 — only in re: 1"y do the proceeds maintain status of nn
i Question: why not infer from there?
it Answer: 1"y and nonw (v. 11 ) which also extends to the proceeds (are subject to 11»1) are 0’213 NV
1 Challenge: how will authority who allows n»11m3 21w to be a model answer?
2 Response: both have exclusive terms — R0 00, R0 Y2v;
I > mwn: puyrp with NN mann (Mn1n ete.) and nkon "m/n79 99R - all valid, even if given by a Y
a  RYw: nRIn N (the rights to decide who gets n11na niann) isn’t considered to have monetary value
i Challenge: our mwn assigns it a monetary value (and validates pwy1p done with it)
ii  defense: our case is 92v that came to the Y81’ as a "Wy from his Kohanic maternal grandfather
1 and: we hold that yomn 85w nunn are considered to have been taken
2 therefore: he already owns the nmyIn and may sell it to a 1n3 (it has real value, not just nXin N2v)
iii ~consideration: perhaps NR1n N2 is subject to dispute NTIM’ 92 701 7227 in re: amount of repayment if 920 stolen
1 sarpayall
2 7T pay value of p9n within it (total minus value of mann)
(a) reconsider: perhaps all agree that nR3n N1 isn’t a value, and the case here is as above (Kohanic grandfather)
(1) 227 mMn ®Y® mann are considered taken “he stole all (the owner owned all of it)
(if) 2727 NN RYW Nunn aren’t considered taken-> the owner must separate it and give it 2 no value
(b) Reconsider: perhaps all agree that they are considered to be taken (and 1mn n»x NRIN N2W)
(c) And: dispute is whether to accept YR1nW’s ruling that one kernel exempts the entire pile (xn»18Tn)
(i) 227 accepts Yrmw-> the thief stole all of it
(if) 27277 rejects YRNW >the thief only stole the P5n value
(d) or: all reject HYRnW and »a7 applies vip to the thief
(e) or: all accept HYR1mW and »"11 applies v1p to owner for holding on to Y20
b challenge to nxvn /779 798 MWnN rules that taking money for these actions renders them invalid
i answer: may accept money for trouble of bringing them, not for mxn (wording of each mwn supports distinction)
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